V=

Trick-Tools.com

Phone:1-877-VAN-SANT
E-mail: sales@trick-tools.com

75 Truman Road
Pella, IA 50219

1 B-105-HD-P-FA-BTM 105 HD Frame Arm (Bottom) 1
2 B-105-HD-P-FA-TP 105 HD Frame Arm (Top) 1
3 B-105-P-SPCR-FA-0.75 105 Frame Arm Spacer 2
4 B-105-P-SA-TP 105 Swing Arm (Top) 1
5 B-105-P-SA-BTM 105 Swing Arm (Bottom) 1
6 B-105-P-SPCR-SA-0.50 105 Swing Arm Spacer 2
7 B-105-P-BSHG-IMP 105 Impregnated Bushing 2
8 H-WSHR-0.75-Z Hardware, Washer, 3/4", Zinc Coated 4
9 H-HXB-0.75-10X7.5X2-GR5 Hardware, Hex Bolt, 3/4-10, 7.5" Length, 2" Thread Length, )
Grade 5

10 H-HXN-0.75-10-Z Hardware, Hex Nut, 3/4-10, Zinc Coated

11 H-WSHR-0.5-Z Hardware, Washer, 1/2', Zinc Coated 4
12 H-HXB-0.5-20X5X1. 25-GR5-7 Hardware, Hex Bolt, 1/2-20, 5'.' Length, 1.25" Thread Length, )

Grade 5, Zinc Coated
13 H-NLN-0.5-20-Z Hardware, Nylon Lock Nut, 1/2-20, Zinc Coated 2
14 B-105-P-ASSY-HDL-RCHT 105 Ratchet Handle Assembly 1
15 B-105-P-A-RCHT 105 Ratchet Arm 1
16 H-CLLR-CLMP-1 Hardware, Clamp Collar, 1" ID 1
17 PIN-01 Pin 1 (U-Strap Pin) 1
18 PIN-02 Pin 2 (105 Center Axis Pin) 1
19 PIN-03 Pin 3 (105 Backing Block Pin) 1
20 PIN-04 Pin 4 (105 Large Drive Pin) 1
21 PIN-05 Pin 5 (105 Ratchet Handle Pin) 1
22 PIN-07 Pin 7 (105 Small Swing Arm/Hydraulic Pin) 1
23 B-105-P-DP 105 Degree Plate 1
24 H-SHCS-0.25-20X0.375X0.375 Hardware, Socket Head Cap Screw, 1/4-20, 3/8" Length, 5
3/8" Thread Length
25 B-105-P-ASSY-PTRBLK 105 Pointer Block Assembly 1




Pro-Tools MB-105HD Manual Bender Parts Diagram



